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SECTION -1
1 Write short answers of any EIGHT parts. 16
(i  Define discrete variable

8 ;
(i) Expand X {y - p) and x (v,

(i) Define weighted arithmetic mean,
(ivy If ¥, =3 with ;= 3 and vy =4 with 0y = 2. then find ¥,
(v) What are merits of mode?
(v} What are demerits of geometric mean?
(vii) Ulustrate graphicaily the relative positions of the mean. median and mode for frequency curves which are skewed
1o right and lefi,
{viii) Define price relatives,
{ix) Define simple index number.
(x) What is consumer price index mamber?
{xi) Find Fisher's index number if Laspeyer’s = 10878 and Paasche's = 109.21
{xii} What arc limitations of an index number”
3. Write short answers of any EIGHT parts. 16
(i) What is classification’

(i) Define class boundaries.
(iii) What is meant by dispersion? - o
{ivy  Define standard deviation.

(v Write any two pruperties ol standard deviation.

(vi}) Compute coefficicnt ol quartibe deviation o Q= 10.20-, Qs = 5829 Py
(vii) Calculate lower guartile from the givendaz-  13,3,7,15. 17,5, 23,2
{viii) Define event. Q
(ix) Define compound event.
(x)  Define non-mutuaily exclusive events. @
(xi}  Define exhaustive events.
(xii) For two mutually exclusive events A and Bl P(A) ?9] = (0.at), then find PCAUR).
4. Write short answers of any SIX parts. i2
(i) What do you understand by random mumlbwers?
(i) Detine mathematical expectations.
(i) Given E{X) =200, CV(X}= 7, thepdi (I@
(i) What is continuous random Vil g
(v} Write any two properties of expec : ;
{vi)  What is Bernoulli's trinl? T
{vii) Find the number of tridls ot ul istribution which has mean - 12 S.03 =2
(viii) Under which uircunm apply the binomial distribution and hypergeomeric distribution’”
(ix} Given N =10, 5, Find PUX = 1)
__Allempt any '!"H_[_tF.l;'qucslimls. Each question carries 08 marks. _]
can il weights 4, 3. 3, 2 and 2 respectively are allotied 10 the subjects: 04
Subjects | Urdu | Lnglish | Math T Statistics | _Physics
Marks” | 82| 73 0__; 51 | 6 |
(byCaiculate harmonic mean from the following distribution: ' _ 04
Classes | _10-20_| 2030 [ 3040
brequency | 3 5 12
6. (a}Find the ccetﬁc_ir._:_n!__u_,}l' ;malr!ilu QCW'jlglggrl_ﬂ'g‘rp_l_hg _I}y_ll;:-m‘ng_ L.L!_ig 04
“Classes [ 10-20 [ 20-30 [ 30-30" 40 50 | s0-60 }
Fregoency |31 7 | 0 . K i 2
(b)The first three moments of a distribution about the value 2 ol u variable are 1. 10 and — 40. Show that
the mean is 3. the variance is 15 and third moment about mein is - 80, 0d
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